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Answer all four questions. All questions carry equal marks. 
	Name :                                              Section :                    I.D.


1(a). For the given values shown in the table {assume the memory contents of the 

  addresses in-between the given addresses (in the table) contains zero values} ;

	     Register contents
	Memory addresses (PA)
	Memory contents (Hex)

	  AX=000AH, 
	            102AC : 01

	  DX=E2F3H,
	            102AD : 04

	  BP=0206 H 
	            111AD : 05

	  DS=1001H,
	            112AC : 03

	        SS=1101H,
	            112AD : 02
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              MOV  BX, Word ptr[BP+96H] 
              IMUL BH 
              STC

              RCR   DX,01  

AX =___________H;             DX =___________H;           CF =_____ (‘1’or ’0’);     

      Addressing mode used in the 1st line of the program : ____________________
1(b) If SI= 2312H , AX= FF7AH , DS:[SI]= 1078H  and  ES:[SI]= A5C8H  Then execute the follwing program and find the values of the required registers, 


LEA CX, Word Ptr [ES:SI] 
MOV CH, Byte Ptr [DS:SI+1]
SAHF 
CBW

SBB AX, CX
AX =___________H;            CX =___________H;           PF =_____ (‘1’or ’0’);   
2. For the given PPI (8255) circuit, write a program using ‘JC’instruction to;

(a) Input a bit-data from the  LSB  of  Port A of 14th   PPI 
(b) Also input another bit data from the  MSB  of  Port C of 2nd   PPI. 

(b) Compare the inputted bits, and when they are same (or have same logic level), 

(c) Output the inputted logic level through all the pins of Port C Lower of 2nd  PPI
Use Isolated input-output interface, Mode 0 operation, 0’s for don’t care address pins and un-used ports programmed as output ports 



3 In executing the instruction

MOV [A805H], CL

The 8088 processor performs a bus operation. Draw the timing diagram showing: CLK, Logic levels at pins 13-16,25,28,29,32,33,35,36,37 and 38. (Assume minimum-mode, DS=0000H, IF=0, and CX=031AH). 
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Line 21:





 Write the Program segment below: ( Don’t include … Title, Mode, Stack ……… end …)




















